Trip to England

2 points

Introduction

You are driving your car to England (yes, you can cross the Channel with a ferry) and you have learnt
that International Metric System is not used there. Like other former colonies, they use the Imperial
System that uses miles to measure distances between cities.

You need to write a program that converts miles into kilometers. A mile is 1.609 Km.

Input

The input will be a distance, expressed as a positive float number.
2.57

Output

The program must output the list of distances in miles with their conversion to Kilometers.
2.57 miles are 4.14 Kilometers





